[ Efficiency vs vertpos |

1.2

etticiency vs vert r

0.6

0.2

-
08_+%H¢ﬁ’ ________ o

[
od]

...............................

10F

Ratio

[y

0.9H

Tl

i I

3
+

1072 107 1

Efficiend

m

10 0?
TP vertr (cr%)

— oba T
—e— DQM_V0001_R000000001__Global_mkFit_var
—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
—— DOM V0001 _R000000001__Global__mkFit_jcore50maxCand-45DUPremoval

aseline

N 1.2
1

0.8

efticiency vs ver

0.6

T o S

s S | P

Ratio

1.05f--=++- H;

ﬂ~ -------- -

b il
095: ; :

=30 -20 -10

) ﬂl : :
10 20 30

0
TP vert z (cm)

[ Efficiency vs. sim PV z |

1.2

efficiency vs Sim. PV z

s e

Ratio

Sim. PV z (cm)




	Contents
	Page 1


